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B. A. (HONS.) ECONOMICS (BAECH)
Term-End Examination
December, 2023

BECC-108 : INTERMEDIATE MICRO-
ECONOMICS—II

Time : 3 Hours Maximum Marks : 100

Note : (i) Answer questions from each Section as

per the given instructions.

(it) Section A : Answer any two questions
from this Section. Each question carries
20 marks.

(iti)Section B : Answer any four questions
from this Section. Each question carries
12 marks.

(iv) Section C : Answer all questions from
this Section. FEach question carries
6 marks.

Section—A

1. (a) What would be the profit maximising
output for a monopolist that faces zero
average and marginal costs ? Illustrate
with the help of a diagram. 5

(b) An amusement park owner opts for a two-
part tariff. He/She charges for an entry

P.T.O.
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ticket and then for every ride. Suppose
AC = MC = 6. The market demand curves
for the two separable markets are : 15

Q, =60-P, and Q, =60-2P,

(1) The firm can follow a two-part tariff.
What will be the fixed one-time fee
provided by (1) Oti’s solution and
(2) Alternate method using the profit
maximizing unit price ?

(11) Calculate the monopolist’s profit in

both the situations.
(a) With the help of a diagram, explain the

social loss due to negative externality. 10

(b) Discuss the mathematical explanation of

optimal provision of public goods. 10

Consider a duopoly of firms 1 and 2 producing a
homogeneous product. The demand is described
by the following function :

1

where, Q 1s total product of both firms

(. e., Q = Q1 + Q2). Also let the marginal cost of
production faced by both firms be T 40, 1. e.,

MC: = MC2 = 40. Calculate the residual

demand function for both the firms. Using them
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a certain their reaction curves and the Cournot-
Nash equilibrium price and quantity produced

by each firm. 20

4. (a) Explain the deadweight loss due to a

symmetric information. Illustrate. 10

(b) Comment on positive externality and

inefficiency. 10
Section—B

5. What i1s Prisoner’s Dilemma ? Two firms are
planning to enter into a market. Firm 1 1is
contemplating its capacity strategy, which can
be ‘aggressive’ or ‘accommodating’. Firm 2 also
has similar options. The payoff matrix is as

follows :
Firm 2
Aggressive | Accommodating
Firm 1 Aggressive (7, 2) (10, 3)
Accommodating (9, 5) (11, 4)

(@) If both firms decide their strategies
simultaneously, what is the Nash
equilibrium in pure strategy ? 6

(b) Write the game in extensive form. Find the
optimal strategy of firm 1, if it is the first
mover. In that case what would be the
strategies of firm 2s ? 6

P.T.O.
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The perfect competition ensures optimum
allocation of resources in the production of
two commodities X and Y. Explain with the
help of Lagrangian function. 8

What is meant by value judgements ? 4

For a profit maximizing monopolist, how
does markup depend on the elasticity of
demand ? 5

Consider a monopolist facing an inverse
demand function P(Q) = 10 — Q and
TC = 2Q + Q2. Calculate the deadweight
loss associated with this market condition.

7

Explain the concept of excess-capacity.
[Mustrate. 4
In monopolistic competition, a firm

produces 5 units of output. The total cost
(TC) function of the firm is given by :

TC =256 + 4g2 + 150q
where ¢ is the output of the firm.
(1) What is the efficient level of output of

the firm ? 4
(i1)) Do you think that the firm 1is
producing at the efficient point ? 4

Distinguish between public good and
private good. What 1s the Free-rider
problem ? 6

Explain the concept of Coase theorem. 6
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For the following demand curve P = a — 2b and
constant marginal cost curve i1s ‘C’, find the
equilibrium price, quantity and profit according
to: 12

(1) Stackelberg Model

(1) Bertrand Model

What are the characteristics of public goods ?
Explain the Samuelson-Musgrave’s theory. 12

Section—C

Write short notes on any two of the following :
3+3

(1) Transformation Curve

(i1) Social Welfare Maximization

(i11) Pigouvian tax

(iv) Second degree price discrimination

Differentiate between any two of the following :
3+3

(1) Perfect competition and Monopoly

(1) Simultaneous move and Sequential games

(i11) Marginal cost pricing and Average cost
pricing

(iv) Benthamite welfare function and Rawlsian
welfare function
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(F) TH TARSH U &1 @ fg-9rt wes
1 fahed T 21 9% YIS UG B
fot vaw Yoo o@ € R U § waw
Tl W YAe gal & fau Iee o
21 O fF AC=MC =6 & Jush 9Nl &
fau s A 9% Q =60-P, d
Q, =60-2P, 2l 15
() wH fg-9rt uxeek & faehew I A

g @ Thel WOv Yoh T ® gW
SUeTe HUT TE FAT BA 2
(1) 3. 3TE. & T A
(2) 9 & AYFAH FH HI HIHd
% WR W dehfeqesn fafy
Gi) A feafaai § wefus & a9 &I
TUMET hifSIT|
2. (M@= &1 Fedl 9, B/UMHE-dRIal &

RO GHESeh 819 ol S hifsdl 10

(9) FESeh  a%gell H1 TEAH WEHH i
oI e & =i hifsu| 10
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3. % FHE 1 AR 2 # feafuer aR W faER
FIU S wH TE WEE aR a9 @ OE,
e foe 9f e ©

1
Q=;(100-P)

STEl, Q JHI ®H w1 SRA €, Ui Q = Qu +

Qq | A T <A1 wE 1 HEM o T 40 R
FAT MCy = MCz = 40 | Tl HH & el
T T SAThoId hITSIT| ITehT TAN T IR
giafshean ok STRfed Y 37 I G Scdied
- Ao HEG T HIFd S SIS 20

4. (37)HAMHd ISl & ®RU SYRA @fd &l
e iUl (Y@ EvEs ?) 10

(&) YIcHeh STerdl Tol Sfgerdl W feoqofl shifsm)
10

TUg—a

5. a4 gfaen @ B 2 % BH T aNR W Hew
ST WEd ®1 wH-1 wl MR gt

‘RS’ o R IaaeEdl’ el ST gl 7
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T @ w2 % fowg o o 21 wiawita stegE
TH YEN B :

Y 2

MRS | THOIAR]

wH 1 TSRS (7, 2) (10, 3)

qHaTars] 9, 5) (11, 4)

(F)AR I ®H TH T GHI W ST
gferal @@ L @ 9 "o FMEW 2 6
(@)z9 Td =l foga =&y d fwfia s
AR afg wd-1 Tedt Fofg = g @ @
geaqq g i@ sifse wH-2 39 <9
o o wan ? 6
. (3N ol wfqefirar § axgetl X T Y % SRd
H HHYAl & ST hodH sTded &I gifvEa
A Tl WS HeH w HEEdl W oA
ST 8
(9) gea Frofa 9 @1 e © 2 4
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7. (3N TWH o9 AfUHaHR ThIHw & o,
mehe™ fRE YR O &l @ W R

H T 2 5

(9) P(Q) = 10 — Q | T &1 99T H T
frdt THEIfUeR W fgurR Hifsul ST

AN He TC = 2Q + Q2 81 39 &SI <M

W fagrs frea &4 (sqRa afq) ot Tom

CAIE LY 7
8. (3)Afdie &Wal &1 SEYURON i A&
HIfST| tEfas &1 788 ¥ TUET) 4

() THIfueIRes Gfqaifial & offid Tk ®H
AN Wed TC = 256 + 4¢% + 150 & a9
%Y 5 gREAl TSI Hidl €, el g BH
&1 eI A 2l
() TH® ISOART R I TR FME ? 4
(i) 3 foaR ¥ F ®H 3¥ fog |

SCEH A W B ? 4

9. (1) Wl a5 3R st o%g o weh waEy
U@ 1 G =1 € ? 6

(9) T8 YHIY 1 FEGURT h1 AT HIS 6
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10. BT Tk P = @ — 2b dU1 TR dom o o
‘0 %1 g ITER Hge hiFal, qEe T ey

H T4 R 12
() THeI YiaEE
(i) o< wfauH

11. Grdsien a&get i fagvad = € ? dqstee-
Tqid fagra &t =ren Sifs) 12

WUs—d

12. frafafea 4 @ fof @t W o fewfort

fafaT - 3+3

() TUFNU T
(i) 9IS HeAU AR THIH LT
(iii) FRETET A
(iv) fgdi@ wife =1 g faug
13. frefafaa & @ f&5= & & &= o+ TaEy .
3+3

() Ui SfAEIfTr qen TehTfeehi
(i) FHEHFR SHM ShiAe =e T
(i) HH AN ®iHa U e e siEd
o
(iv) S99 HeAT (&H) Hed qdl Yo Hedml
Theld
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